Mass transfer theory
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PV = uRT
w _ P
% RT <
é Cﬂ, D.A.B(CA _CA)
—— — — 1 L
¢, = DA _ Ra o Dap(24,—24)
A RT v A RT( 2, —21)

P, = 0.5 atm = 0.5x1.01325x10° = 5.16x10* Pa
P,, = 0.3 atm = 0.3x1.03125x10° = 3.04x10* Pa

L = (0.687x10 ~4)(5.16x109—3.04x10%)
A (8314)(298)(1—0)

= 5.87x10 7" homol Afs . m?




Ak(Equimolar Counter diffusion)

PAl PA2
Ps; J I Pey
P —J, P
P

PAl
PBZ

T

A2







(Diffusion of Gas A through Non

diffusing or Stagnant B)
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Dyn dpy Da
Ny RT 2 + P Ma
a4 Dyg ddy
Na="p") = ~R7 &
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1.01325*10°Pa, 20°C & [} €™ 2 & 20°C
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AA
=0| SEEI|0 6" A= ol &7 2=
diffusionZl C}.
20| AlZtY BEEE ¥2 A
=9 2 7} 20°C, &r=0| 17|
D= 0.250*10-*m?/sO| Ct.




=0

17.54/760 = 0.023latm = 0.0231(1.01325%10%) = 2.341x10°Pa

= 1.00—0.0231 = 0.976%tm

pAl =
P, =0 Dp, = P_I)A
= 1.00—0 = 1.00atxn

sz = P- pAs
PPy 1,00 — 0.9769 B
25, = TGgips) ~ (.00/0.9769) — 0O-988am

1.001x 10°Pa

(0.969)(1.0)(0.0231 — Q)

_ D 4nP —p.) =
Na = RICz, - 20085, P4 P40 = T(0730)(528)(0.5)(0.988)

Lo Ne = 1.175x10 *molih - £

N, = -(0.250x10~%)(1.01325x10%)(2.341x10° —0
A (8314)(293)(0. 1524)(1.001%10%)

= 1.595x107 Thomolfs - m?




o4xo| £Xt ik

DA.B(C.Al — C.Ag) Dﬁ.ﬂcﬂu(xﬁl — X

Ay

N H— H——4
4 | 23—

AS| Z=HAZE [kgmol A/s.m?]
A == [m?/s],
A°| =& [kgmol A/m3],
Xap o K| 10| A A2| mole fraction
A+ B2 & i sk [kgmol/m3]

(») (D
( ) (TII-FF;;)JZ

M, 2IX] 10| A B 2 At [kg
mass/kgmol],
p1: FIAl 10N EHo| B T [kg/m’]
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a7 4 50

o
AR, = - DA_B(CE—CI)A _ 2%
n Vi | (Vi + Ve, = Vid+ V,d
C > c, (Vi+ Ve, = Vo + Vs,
e
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ASHZE 0| 801X Y0 EHjetz=(distribution function)S 0| &5} SILC}.

1.8583+1077%2 | 1 iz
Dan = +
4B oty am  Ma | Mz

« n-FEZS(A)0] latmo| S7[(B)S2 = =hitk[id UL, Fullery = 0|80t

0°C(2.0atm) & I =tibA|== DpgE AlLtorOi L.

0K

Oatm, T = 273+0 = 273K, M (R EIS) =74.1, Mg(Z271) = 29

1.0
= 2H

P =
By

Zv, = 4(16.5)+ 10(1.98)+ 1(5.48)= 91.28( deetanol)
22)5 - 201('3‘71)

.. = L.0x1077(273)'™(1/74.1+1/29)172
e (1.0)[(91.28)13 + (20.1)173]2

7.73x10 ~Y me?{s




ARt FREA BI| ST}, v

C 16.5 cn 19.5
H 1.98 ©) 17
o) 5.48 HISEE 713 —20.2

™) 5.69 s|E|2 Dz —20.2

ZHEHSH 2RLO| SR, Tv

H, 7.07 co 18.9
D, 6.70 Co, 26.9
He 2.88 N,O 35.9
N, 1.79 NH, 14.9
O, 16.6 H,0 12.7

&7 20.1 (CCLF,) 114.8
Ar 16.1 (SFe) 69.7
Kr 22.8 ) 37.7

Xe) 37.9 Br) 67.2

Ne 5.59 (SO,) 411
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Dyg = 7.4+10 E((DMB)NZDBV%'S

2 A =2 30 BY O,

Mg: 0§ BL| &AtZF [kgmass/kgmol]

us - == B E [cp]

Vy HS=2C0AM &4 2A 214 [Cm3/9 mol]

@ : 2012 2|2t mt2t0|E (association parameter). | stuta}o|
) 22 29 1] 26, ofe2 10, YL 19, #E 10, o2
=



=0])
25°CO| 29| ME & g = 0.8937cp, 50°CH| M= 0.5494cp

OtM|-=(CH;COCH,) 2| & A £1=,
Jcavbons +8hvdvogens+ 1 oxvgen
Vi = 3(14.8+6(3.D+1(7.4) = 74.0am?- gmo.

29| 2| aftet0|H= ¢ = 2.6
My = 18.02kgmass| kamo!

_ - 12 e T _ _(7.4x107'3)(2.6=18.02) 1/2x298
Das (7.4x10" ")addp) B g V90 (0.8937)(74.0)0-8

= 1.27x10 "I m?s
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Solute Solvent Temp (O) Diffusion Coefficient [(m?/s)10°]
NH4 = 12 1.64
15 1.77
0, =2 18 1.98
25 241
CO, = 25 2.00

H, = 25 4.8

o ELS = 15 1.26
25 1.24
TEA =) 25 1.52
OFM| E A = 9.7 0.769
25 1.26
OtM|E = 25 1.28
OfM| E At ) 25 2.09
= ol EtZ 25 1.13
KCI = 25 1.87
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Nge 2| Range error() AIRE|= Al
15,000 O O + 25 .ID = 0_554%5!.5
150,000 ~ 300,000 +£30 Jo = 0.036Nz 7
QK| 600 ~ 50,000 + 40 Jo = 0.99Nz%f
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2L 7} 26.1°COl B2 QFo| AABL 20| HIZAIO S &l | = 0.244m?l
0

2 s 20t 29 §42 0.061m/s0|1, HlZEAO| )| = +=0.0295
kg.mol/m30|C}. HIZAO| SHAF H 47} Dy = 1.24%105cm/s)Y [ 2

2HE A=kt 592 NyS THotet

pw= 0.87lcp= 8.71x%107%*PFas
o= 99Bkqg/m®  Dyp= 1.24%10 °m?/s
Ne = —L 8.71x10 ~

oDas  (W6)1.24x10-%H _ O
_ Le _ _(0.244)(0.0810)(998) _
Nper = 2% KT 17,000

Jp = 0.99NZE = 0.99(17,00007%% = 0.00758



continued

kr
]p = 96 (ng)ﬂa

¥, = Jp(Ng) %3
2. = 0.00758(0.0610)(705) ~27 = 5.83x10~ % m/s
k,

xﬂy

NA=

(CA._CA,) = kc(CA.‘CA,)
« 20| | F7| {29 x5,=1.00| 1, k' =k_O|C}

Ny = (5.83x1079(0.02048 —0) = 1.719x10 " kgmoifs - m?



